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ENTRANCE EXAMINATIONS, FEBRUARY 2015 QUESTION PAPER BOOKLET

Integrated M.Phil-Ph.D.(Cognitive Science)

Marks:75

Time: 2.00 hrs. Hall Ticket No.

1. Write your Booklet Code and Hall Ticket Number in the OMR Answer Sheet given to
you. Also write the Hall Ticket Number in the space provided above.

2. Read carefully the following instructions before answering:

a. This Question paper has Two sections: Part- I and part- II .

b. Part I is to be answered by all candidates. There are three sets of questions
for part II corresponding to the three streams. Answer one and only of the
sets corresponding to your stream of interest.

c. The sheam name and code is mentioned in the beginning of each set in part II.
Mark the booklet code for the stream in the OMR sheet. Booklet code A
for'Neuroscience' stream. Booklet code B for'Cognitive Scienceo stream.
Boolet code C for'Linguistic Cognition' stream.

d. Part - I has 35 common objective type questions for all streams and Part - II
has 40 objective type questions, separate for each stream, of one mark each.

e. There is negative marking for all the questions in parts I and II. Each
wrong answer carries -0.33 mark.

f. Answers are to be marked on the OMR answer sheet following the instructions
provided there upon.

g. Calculators are permitted. Logarithmic tables are not allowed

h. Hand over the OMR answer sheet at the end of the examination to the
Invigilator.

i. No additional sheets will be provided. Rough work can be done in the question
paper itself / space provided at the end of the booklet.
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46. Which is a cognitive process?

A. attention
B. vision
C. rnemory
D. all of the above

47. Posner's name is associated with which task

A. spatial cuing
B. visual world
C. simon
D. all of the above

48. Endogenous affention shift is

A. voluntary
B. involuntary
C. both of the above
D. none ofthe above

49. How much time it takes to program a saccade?

A. ZO0ms
B. 400ms
C. 50 ms
D. None of the above

50. Broca's area is known to be involved in

A. speaking
B. syntactic processing
C. sequential processing
D. all of the above

51. Self-paced technique is widely used as a method in

A. Sentence processing
B. Face perception
C. Object recognition
D. Numerical cognition

52. Foveal vision is limited to

A.l-2 degrees
8.4-5 degrees
C. 10-12 degrees
D. none of the above
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53. Ma<imum of capacity of visual short term memory is

A. 4-6 items
B. 8-9 items
C. 1-3 items
D. 12-14 items

54. The reluctance of attention to return to a location immediately is known as

A. inhibition of return
B. inhibition of cause
C. perspective taking
D. none of the above

5 5. Chomskyan transformation involves

A.sanddstructures
B.kandmstructures
C.tandlstrucfures
D.banddstructures

56. SQUIDS (superconducting quantum interference devices) are commonly used in which
neuroimaging method?

A. MEG
B. fl\4RI
C. both
D. none of the above

57. In ERP methodology one sees an N400 when

A. there is a sernantic mismatch with the context
B. there is a working memory problem
C. when there is a reading problem
D. when there is a problern related to numerical calculation

58. 'What Mary did not know?' particularly refers to a problem in

A. Philosophy of mind
B. Philosophy of science

C. History of science

D. behavioral psychology

20



T-q+
59. Nikolai Trubetzkoy was a founder figure in

A. phonology
B. semantics
C. syntax

, D. pragmatics

60. DRC model is a cognitive model of

A. visual word recognition
B. sense perception
C. memory
D. none ofthe above

61. Change detection as a paradigm deals with

A. selective attention
B. working memory
C. semantic processing
D. all of the above

62. Which discipline was a core discipline in the formation of cognitive science

A. linguistics
B. astronomy
C. Mechanical engineering
D. none of the above

63. Top down effects in cognitive processing refers to

A. an influence of context
B. an influence of the goals of the agent
C. both of the above
D. only a

64. The PDP model of cognition was proposed by

A. McClelland and Rumelhart
B. Chomsky and Halle
C. Steven Pinker
D. James Watson

65. The Levelt's model is a model of

A. sentence processing
B. semantic memory
C. Speech production
D. Executive control
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66. Design features of language were proposed by

A. Charles F Hockeet
B. Claude Levi - Strauss

C. Posner
D. None of the above

67. Which of the following sub-cortical structure is involved in saccade programming

A. superior colliculus
B. Broca's area
C. Wernicke's area

D. Hypothalamus

68. Word superiority effect refers to

A. ability to recognize letters in words better than in non-words

B. ability to identify morphology of words
C. Identifying pragmatics of words
D. All of the above

69. Dyslexia is a

A. disorder of visual word recognition
B. Disorder of sentence production
C. Memory disorder
D. movement disorder

70. dichotic listening paradigm is a task used to measure

A. selective attention
B. visual perception
C. working memory
D. long term memory

71. What is the cannonical sentence structure of Hindi?

A. SOV
B. OVS
C. VSO
D. None of the above

72. Visual word form area is a functional region of

A. fusifonn gyrus

B. frontal eye field
C. Wernicke's area

D. cerebellum
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73. Visual neglect refers to

A. An attention disorder where patients fail to identiff stimuli on any one side
B. A disorder of action memory
C: A disorder linked to computation

, D. A disorder linked to decision making

74.The 'computer metaphor' in cognitive science refers to

A. Viewing the mind as a digital computer
B. Studying computer hardware
C. Studying animal cognition
D. All of the above

75. Qualia in philosophy of mind refers to

A. subjective awareness of events
B. attending to objects
C. knowing others bodily states

D. none of the above

PART II

Stream : Linguistic Cognition (Mark the booklet code C in OMR sheet)

36. My wife beats me. This sentence is

A. lexically ambiguous
B. structurally ambiguous
C. phonologically ambiguous
D. not ambiguous

37. He put the cat in the box on the table. This sentence is

A. lexically ambiguous
B. structurally ambiguous
C. phonologically ambiguous
D. not ambiguous
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Here is data from a hypothetical language

bujuk kopekim imy big dog'
kara kopekler black dog'

'uc kukuc kopeklerim 'my three little dogs'

ik kukuc kopeklersi 'his two little dogs'

iki kopeklersi 'his two dogs'

38. 'kara kukus kopekim' means

A. my little black dog
B. my three black dog
C. his little black dog
D. his three black dogs

'39. 'bujuk kopeksi' means

A. his big dogs
B. my black dog
C. his big dog
D. my little dogs

40. New words in English very rarely start with sound combinations like [tl] or [ks]. This
illushates one of

A. the phonological rules of English
B. the morphological rules of English
C. the phonetic rules of English
D. the semantic rules of English

41. Infants distinguish /pa/ and lbal but not lpal and /tal. This is because they go by

A. place of articulation of phonemes

B. voice onset time and the syllable
C. pitch and accent of the syllable
D. rhythm of the syllable

42. Given current evidence, what is the most likely impact of language on thought?

A. One's language determines one's thought
B. One's language has no impact on one'Jthought
C. One's language has a permanent impact on one's thought
D. One's language impacts one's thought indirectly by impacting memory and attention
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43. The question "Can eagles that fly swim?" is about

A. whether eagles can swim
B. whether eagles can fly
C. whether eagles can flY and swim
D. whether eagles can either fly or swim

44. "Modularity," or "the modulanty of mind" is

A. the idea that language has many parts to it, like sounds and grammar

B. the idea that the mind has many modules, just as the body has various organs

C. the ability of the mind to understand the world
D. the idea is that language patterns are modality specific

45. Target: Iforgot my tennis racquet at home.

, Slip: I forgot my tennis bat at home.

The slip happens at the stage.

A. conceptualization' B. formulation
C. articulation
D. self-correction

46. Taryetz Take my bike
Slip: Bake my bike.

The slip happens because the speaker

A. adds a phoneme
B. anticipates an phoneme

C. repeats a phoneme
D. swaps two phonemes

47.Target: I am not in the mood for reading.

Slip: I am not in the read for mooding.

The slip is a result of

A. morpheme exchange
B. phoneme exchange
C. meaning exchange
D. phrase exchange

Werker and Tees (1984) looked at three infant groups (6-8 months, 8-10 months, and 10-12

months) and their perception of two non-native contrastso the Hindi dental-retroflex contrasts

-8a vs. -fa, andthe Salish velar-uvular conhast in ejectives - qi vs. kr. Using the Head turn

task, they found that the 6-8 month old English infants could discriminate the Hindi and

Salish contrasts, while the 10-12 month old infants could not.
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48. 6-8 month children showed they could

A. discriminate all speech contrasts
B. discriminate contrasts from cognate languages
C; produce limited speech sounds
D. understand Hindi and Salish

49. 10-12 month children could not perceive non-native contrasts because

A. they had suppressed contrasts which were not phonemic in their Ll
B. they had lost their ability to discriminate contrasts

C. they had learnt new contrasts in their Ll
D. they were told not to listen to non-native contrasts

50. Plato's Problern is about

A. language acquisition
B. language change
C. language extinction
D. none ofthe above

51. Sitawants Hari to hate herselfviolates

A. subjacency
B. condition A of the Binding Theory
C. condition C of the Binding theory
D. the ECP

52. Which of the following sentences violates the Empty Category Principle?

A. Who do you think that Soumya likes?
B. Who do you think that.likes Soumya?
C. Who knows what to do?
D. What likes who?

53. Which of the following illustrate s hyponymy?

A. car : wheel
B. mammal : horse
C. black : white
D. woodchuck : hedgehog

54. The national languages of India are

A. Hindi and Tamil
B. Sanskrit and English
C. Hindi and English
D. none of the above

T--?V
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55. Grimm's Law is about

A. meaning change
B. sound change
C. syntactic change

, D. none of the above

56. The segment ltl inEnglish is

A. dental
B. palatal
C. alveolar
D. retroflex

57. Pitch is the same as

A. intensity
B. frequency
C. volume
D. none of the above

58. The sentence Colorless green ideas sleepfuriously is

A. syntactically ill-formed
B. semantically ill-formed
C. ambiguous
D. none of the above

59. The horse raced past the barnfell is an example of a

A. syntactically ill-formed sentence

B. semantically ill-formed sentence

C. garden-path sentence
D. none of the above

60. h the sentence Flying planes are dangerous the word flying is

A. a gerund
B. a participle
C. an adverb
D. a verb

61. The term "linguistic cognition" assumes that

A. the language faculty is identical with the cognitive faculty.

B. all cognition is through language.

C. language is one among the cognitive faculties.

D. language and cognition are inseparable.
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62. The words "yesterday" and "tomorrow" in English corespond to a single word "kal" in
Hindi. This shows that

A. Hindi speakers do not distinguish the concepts YESTERDAY and TOMORROW.
B. there are two words lwl in Hindi, which are homophones.

C. Time is culturally less important in India.

D. Hindi kol and the English words share a meaning component o'one day away from
today."

63. Some languages do not have separate words for he and she. Speakers of such languages

often hesitate between these words or use the wrong pronoun when they speak English.

This is an error

, A. of linguistic performance

B. ofjudgement
C. of linguistic competence

D. ofcognition

64. Language in the hearing-impaired, the blind, and the seeing-hearing populations

A. differs in fundamental ways.

B. is expressed through different modalities.

C. is located in different parts of the mind-brain.

D. is present to different degrees.

65. The sente nce All Indians know a song

A. is ambiguous

B. is false

C. is true

D. maybe false or true depending on the context

66. In a child's story, a mother hen who finds only four of her five chicks says: "Where are

my chicks? I can't find them all." A child thought the mother hen was telling a lie. This

is because

A. the child doesn't know her English properly.

B. the child obligatorily reversed the scopes of all and no!.

C. the sentence does not allow the scope relation noPgll.

D. the child did not know that quantifiers have scope relations.
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67. People who know more than one language

A. keep them separately stored in their brain

B. .have a single ovetarching language system in their brain

C. have one lexicon but separate syntactic systems conesponding to each language

D. have a way of using each language independently, regardless how they arc

represented in the brain.

68. According to linguistic relativity ("language affects cognition"), people who speak two

unrelated languages

A. must have two different thought systems

B. must have a confused thought system

, C. must have a thought system that incorporates both thought systems

D. must be allowing only one language to interact with thought.

69. Language and intelligence

A. go together

B. show a dependence of intelligence on language

C. are independent ofeach other

D. show a dependence of language on intelligence

70. Which of the following statements is true? "There are language deficits in whioh

A. speech is fluent and grarnmatical but meaningless

B. speech is dysfluent and ungrammatical but meaningful

C. formulaic speech is preserved but creative speech is affected

D. all of the above.

71. When a linguistic form is late-acquired, the question whether the diffrculty is one of
language or cognition is relevant

A. in first or child language acquisition

B. in second or later (after the age of 3) language acquisition

C. in neither

D. in both
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72. Although sentences and ph'rases can be infinitely long, they are not so in actuality. This

shows that

A. no real speaker has the ideal native speaker's competence

B. linguistic perfonnance is subject to constraints of memory, fatigue, etc.

' C. language does not occur without meaningfulness

D. linguistic rules have no real instantiation in the brain.

73. The mind-brain problem refers to

A. the divide between philosophy and neuroscience

B. the problem that everyone who has a brain does not have a mind

C. the problem of how consciousness and thought arise out of the physical brain

, D. the problem that the brain cannot feel its own pain because it is not the mind.

74. The idea of a Universal Grammar means that

A. there must be a single parent language for all human languages

B. language is a genetic endowment which can vary within limits in its expression

C. all human beings could understand each other even if they didn't speak

D. babies must understand much more than we think they do, if they are to speak.

75. Read the bilingual joke below and say which of the following statements are true.

Question: "What did one banana say to another?"

Answer: "Akela hflfi mE."

The pun in this joke is between

A. a Hindi word and an English word

B. an English sentence and a Hindi sentence

C. a Hindi word and an English phrase

D. a Hindi word and a mixed English-Hindi phrase.
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